1

© 00 N O 0 b W N

-
- o

BUMP FEED
ONLY HEADS

11

Products with multiple versions are listed in subsiding order with the newest version on top not indented.
Fig. No. Part No.

112508-A
111203-A
112505-A
112506-A
112507-A
112502-A

150110-A
H150140

11150110-A

11153025-A
H153026

Description

Base

Eyelet

Inner Spool

Spring

Shaft Nut w/ washer
Housing

M8 X 1.25 RH Shaft Bolt (Black)
M10 X 1.25 LH Shaft Bolt (Silver)

M8 X 1.25 LH Shaft Bolt (Blue

M10 X 1.25 LH /M8 x 1.25 LH Stud
M7 X 1.0 LH/M 10 X 1.0 LH Stud

QTY

1
2

Notes

No Longer Available

No Longer Available



	COMFORT TRIM HEADS
	T-02917
	T-01753 & T-01753A
	T-03187

	BUMP FEED ONLY HEADS
	B-60143
	123235-7
	126048-5
	B-05119/367-005-119/383-800-300
	197297-1
	713301-A
	713301-B
	713301-C

	BUMP AND AUTO FEED HEADS
	B-60109
	B-60121

	MANUAL FEED HEADS
	713300-A
	713300-B
	713300-C

	RAPID FEED HEADS
	191R00-0




